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The LHS of Eg H depends on X
the RHS on y This is only possible if
both are constant
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Now we have the following boundary

conditions
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From BC 1a
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This implies
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Instead of smh and cosh it more

convenient to you exponentials
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Now he impose a third boundary
condition
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This is motivated by physically We

don't want no potentials

In Eg 4 we must then discard the
CKY solution for h 70
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For NCO we we discard e Y but ve up

with e tax which is the same as G is
h o is not printed as sin 6 so and
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Thw solutions can be indexed by
positive h
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We now use BC2 to get the am's
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We now use the orthogonality of
sire fmotions
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Thus we multiply Cg CGI by sin thnx

and integrate from 0 to U
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Above is sufficientfor full points
MUS further simplification below it for fun
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Look up integral
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Note Griffiths displays above equation
doesn't derive it


